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What are the perimeters of sh.ape C
and shape E combined?
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Which shape has an area |2 cm
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greater than shape C?
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Which shape has an area 9 cm
less than shape D?
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Which shape has a perimeter 2 cm

less than shape B?
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Which shape has an area 4 cm
greater than sh.ape F?
A B C
cE) 2 cm g
~ LN
8 cm
8 cm 4 cm
D
: £ 4 cm
3 = N ~
© 5cm g o
2 cm ~ © 2 cm 3
(A8
9 3
9 cm cm

What is the difference between the

areas of shape A and shape E?
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Which shapes have a perimeter greater

than the perimeter of shape B?

£ £
G 2 cm o
< N
8 cm
8 cm 4 cm
ul £
o :\l) 4 cm
3 = ~
g 5cm g 5
2 cm ~ © 2 cm 3
()8
9 3
9 cm cm

Which shapes have an area greater
than the area of shape A?
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What is the difference between the
perimeters of shape E and shape B?
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What is the difference between the
perimeters of shape A and shape B?
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